AP Stats
Chap 5 

         Name ______________________________________________   Pd _______
[image: image1.png]



Honey Nut Cheerios 
General Mills, the manufacturer of the Cheerios cereal brand, sells boxes 
labeled “16 ounces.”  The company wants to have that much cereal in 
each box, but since no packaging process is perfect (we live in the 
RealWorld, not the MathWorld), there will be minor variations.  If the 
filling machines are set at exactly 16 ounces and the Normal model 
applies (as the company believes), about half the boxes will be underweight, making customers unhappy and exposing General Mills to bad publicity and possible lawsuits.  To prevent underweight boxes, the production team has set the mean a little higher than 16.0 ounces.  
Based on their experience with the packaging machines, General Mills believes that the amount of cereal in the boxes has a standard deviation of 0.2 ounces.  They decide to set the machine to put an average of 16.3 ounces in each box.

1.  What fraction of the boxes will be underweight?

2.  General Mills’ lawyers say that the percentage you just found is too high.  They insist that no 

more than 4% of the boxes can be underweight.  So the company needs to set the machine 
to put a little more cereal in each box.  What mean setting to they need?

3.  The company president vetoes that plan, saying that the company should give away less free 

cereal, not more.  Her goal is to set the machine no higher than 16.2 ounces and still have 

only 4% underweight boxes, at most.  The only way to accomplish this is to reduce the 
standard deviation of the process.  What standard deviation must the company achieve, and 
what does that say about how consistently the machine must work?
